5 Port Solenoid Valve
Direct Operated Poppet Type

Series VK3000

Rubber Seal

C: 0.54 dm3/(s-bar)
(Passage {4/2 — 5/3 (A/B — R1/R2)})
Compact: Width 18 x

Length 68 (mm)
Low power consumption
4 W DC (Standard type)
2 W DC (Low wattage type)
Suitable for copper-free
applications

All the parts in contact with fluid are
non-copper materials

o

1.4=

Base mounted

1B

Body ported

JIS Symbol

Body ported Base mounted
(/:)(g) (Ei)(/i)

MITINR e L
(R51)(;’)(F$2) (g’)(g)

Mounting with VK300

Series VK300 can be mounted on the

m same manifold base VV5K3 of
VK3000 series. For details, refer to
the page 1592.

Used as a 3 Port Valve

Series VK3000 can be used as 3 port valve,
as a N.C. or N.O. type, by plugging either “A”
or “B” cylinder Port. Make sure not to plug
the exhaust port “R”.

Plug position B port A port
[Type of actuation N. C. N. O.
®
(1A) 2 Plug P\ug(ﬁ\)( )
JIS symbol W i \\ m IR
®OBXR2) ROPNRD)

Specifications

C€

[Option]

Type of actuation

Direct operated type 2 position single solenoid

Fluid

Air

Ambient and fluid temperature

—10 to 50°C (No freezing. Refer to page 5.)

Response time (at the pressure of 0.5 MPa) (

10 ms or less (Standard), 15 ms or less (Low wattage type)

Manual override

Non-locking push type

Lubrication

Not required (Use turbine oil Class 1 1SO VG32, if lubricated.)

Mounting orientation Unrestricted

Impact/Vibration resistance 300/50 m/s?

Enclosure Dustproof

QNote 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at rated Vvuﬁ-l
voltage, without surge suppressor)

Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial [
direction and at the right angles to the main valve and armature in both V1 UU
energized and de-energized states every once for each condition. (Values —————
at the initial period) 8070

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz.
Test was performed at both energized energized states in the axial [
direction and at the right angles to the main valve and armature. (Values VQD
at the initial period) ——
Solenoid Specifications VKF
Electrical entry Grommet (G), DIN terminal (D) m
AC 100, 110, 200, 220, 240
Rated voltage (V) DC 12, 24
Allowable voltage fluctuation +10% of rated voltage VT
Apparent power (AC) * Inru.sh 9.5 VA/50 Hz, 8 VA/60 Hz L
Holding 7 VA/50 Hz, 5 VA/60 Hz "s
W/o indicator light 4 W (Standard), 2 W (Low wattage)

Power consumption (DC) * W/ indicator light

4.3 W (Standard), 2.3 W (Low wattage)

cur " ] ] AC Varistor
urge voltage suppressol DC Diode (12 VDC or less: Varistor)
] ] AC Neon bulb
Indicator light DC LED

Q» At the rated voltage

Flow Characteristics/Mass

O
:

Operating Flow characteristics Mass (g)
pressure ~ [15 42 (P> A/B) [42 553 (AB - RIR2) 9
Valve model Port size
range C [dm?¥/ b Cv C [dm3/ b cv | Grommet
(MPa) (s+bar)] (s-bar)]
VK3120 M5x0.8 | 0.45|0.37 | 0.12] 0.43 | 0.37 | 0.12
Body 8 0.84 | 0.10 | 0.19 | 0.40 | 0.33 | 0.10 %
ported VK3120Y M5x0.8|0.38|0.30|0.09]0.40 | 0.34 | 0.10
(Forlow wattage2WDC) | 0 10 0.7 s 0.48 | 0.11 ] 0.11 ] 0.35 | 0.38 | 0.10
Base VK3140 0.63]0.10 | 0.14| 0.54 | 0.12 ]| 0.12
mounted VK3140Y 1z 130
(th st |Forow watiage 2 W DC) 0.50 | 0.12 | 0.11 | 0.48 | 0.19 | 0.12
1589



Series VK3000

How to Order

ey VK3140

VK3120
s o

.’-5 * Option

Electrical entry

G: H: D: o | DO *:
Grommet Grommet DIN terminal ~g" | DIN terminal
(Lead wire length: (Lead wire length: | (Without connector)
300 mm) r 600 mm) -4
A N A .
o e o =
A - A =
m = For connector part number, refer to page 1599.
Rated voltage Port size (P, A and B port)
1 100 VAC, 50/60 Hz M5 M5 x 0.8
2 200 VAC, 50/60 Hz o1 Rcis
3* 110 VAC, 50/60 Hz *R1, R2: M5
4x 220 VAC, 50/60 Hz Option
5 24 VDC Nil None
6 * 12 VDC With bracket
7* 240 VAC, 50/60 Hz (Not assembled)
9 Other k™
F [ [
b, Option Part No.
o "r_| Description| Part no. Note
S Bracket | VK300-43-2A|With screw
E— —

M5

01

CE-compliant

Nil

Q

CE-compliant *

Valve option -
Nil Standard * Electrical entry: D/DO only
« | Forlow wattage
Y (2 W DC) Thread type
* Option . Nil Rc
Light/Surge voltage suppressor Port size F G
Nil None Nil Without sub-plate N NPT
S | With surge voltage suppressor 01 Rc 14(With sub-plate) T NPTF
With light/surge voltage
z suppressor (Type D only)
+ Since the indicator light is built in the connector,
thus, “DOZ” is not available.
Construction
JIS Symbol
(4A)(B) ] -1} 1 4] (5} i
5 15
(R1P)R2)
Component Parts
No. Description Material Note
1 | Body Aluminum die-casted| Platinum silver
2 | Cover Resin Black
3 | End cover Resin Black
K 1 3 4 | Spool valve assembly |  Aluminum, NBR
(R} (P (R 5 | Return spring Stainless steel
6 | Molded coil Resin Black
1590




Series VK3000

Specifications

Manifold Specifications

Valve stations

1to0 20

Common SUP, Common EXH

Body ported, Base mounted

Piping method

Common SUP, Individual EXH

Body ported

VV5K3-40-06-M5

Common SUP/Common EXH

Type 20: Body ported
(A, B port top ported) , g
Rc 1/8, M5 x 0.8

A port:
Rc 1/8, M5 x 0.8

VK3120

K332

,ﬁ R port: Rc 1/8

N N\_P port: Rc 1/8
_R port: Rc 1/8

How to Order

VV5K3-

208 ]
Valve stations
e CE-compliant

01 |1 station Thread typ

: : Nil Rc Nil —

20 |20 stations 00F G Q |CE-compliant
OON NPT
00T | NPTF

Applicable solenoid valve
VK31200-000-M5(-Q)
VK31200-010100-01(-Q)
VK3320-000-M5(-Q)
VK3320-000-01(-Q)

Applicable blanking
plate assembly

VK3000-7-1A

Type 40: Body ported

(A, B port bottom ported) | s,

Type VK3140
. R port: Rc 1/8

How to Order

VV5K3-40-/05]-M5| |-

Applicable solenoid valve
VK31400-000(-Q)
VK3340-000(-Q)

Applicable blanking
plate assembly

_~PprotRc1s_ Valve stations Thread type
§% R port: Re 1/8 01 |1 station Nil Rc
) : : F G CE-compliant VK3000-7-1A
20 |20 stations N NPT Nil —
T NPTF Q |CE-compliant

B port: M5 x 0.8

Type 41: Body ported
(A, B port side ported)

Type VK3140

\\Type VK334

i

How to Order

VV5K3- |41-

Solenoid direction

B port: M5 x 0.8

Type sS4 Type VK334

Applicable solenoid valve
VK31400-0J00(-Q)
VK3340-000(-Q)

Applicable blanking

Valve stations !
[ Solenoid on opposite| | 01 |1 station
NIl side of A and B port : : plate assembly
s |Soenodonseme || 20 [20staions | | Thread type VK3000-7-1A
side of A and B port i Nil Rc
Port size F G CE-compliant
M5 M5 x 0.8 N NPT Nil —
C4 | o4 cassette T NPTF Q |CE-compliant

Type 42: Body ported
(A, B port side ported)

Solenoid direction

How to Order

VV5K3-| [42-

Valve stations

Applicable solenoid valve
VK31400-000(-Q)
VK334-0100(-Q)

Applicable blanking

g .| Solenoid on opposite | |_01 |1 station
2% P port: Rc 1/8 Nil | side of A and B por : : l plate assembly
Type S42 Type VK334 \y_Rport: Re1/8 g | Solenoid on same 20 |20 stations Thread type VK3000-7-1A
Type VK3140 side of A and B port Nil Rc
Port size F G CE-compliant
o1 Rcl/B N | NPT Nil —
B port: Re 1/8 C6 | 06 cassette T | NPTF Q  |CE-compliant

A port: Rc 1/8

Common SUP/Common EXH

Type 21: Body ported

How to Order

A port:
A, B port top ported Rc 1/8, M5 x 0.8 - - - -
PPN A i VVIK3 - 21
CHBHEXRE M ..,  Valve stations Trraud tvbe .
SN o1 1 station | ~read typ CE-compliant
CFaeR : T Nil Rc Nil —
T : P = 5 —
R1 port M5x0A = 20 [20staons | N NPT Q_[CEcoment
R2 port: M5 x 0.8 P port: Rc 1/8 T NPTE

O

SVC

Applicable solenoid valve
VK31200-0J00-M5(-Q)
VK31200-000-01(-Q)
VK3320-000-M5(-Q)
VK3320-000-01(-Q)

Applicable blanking
plate assembly

VK3000-7-1A
1591

VOt
V100
5070
van
VKF

=< | <

VT

>
(7]



Series VK3000

Combinations of Solenoid Valve, Manifold Gasket and Manifold Base

5 port body ported: VK3120 5 port base mounted: VK3140

M3 x 26
Round head
d he - M3 x 26 ;
combination screw _. Round head -
DO TErs: 23-4 combination screw .~
VEI20-CIG-0 W0 G~

Manifold gasket . . '
G- .. ' . i

Manifold gasket =
WH 300062 * i
Applicable base
VV5K3-20(-Q) } .
VV5K3-21(-Q) Manifold base

Applicable base

VK3000-9-1 Sub-plate
VV5K3-40(-Q)

VV5K3-(S)41(-Q) } Manifold base
VV5K3-(S)42(-Q)

Mounting Screw

Body ported | Base mounted A Caution Tightening Torques

Manifold gasket

VK3000-6-1A | VK3000-6-2A

Screw assembly M3: 0.6 N-m

Q Note) Mounting direction is not flexible. Make sure to mount them in the right direction.

Mixed Mounting of VK300 and Manifold Base of Series VK3000

Combination of Blanking Plate
Assembly and Manifold Base

Blanking plate assembly:
VK3000-7-1A

M3 x 8
Round head -

combination screw <"
WHA00-33-1

Blanking plate L
WHSOD0- -1

Manifold gasket _@
for blanking plate .~ |

VHI000-5-3 l 1

Applicable base: In common for all types
of VV5K3 (-Q) models

. Mounting Screw
A Caution Tightening Torques
M3: 0.6 N-m

Type VV5K3-20

VICER -0~

1. In the case of VV5K3-20/40
When installing the 3 port valve on the
manifold base, plug the “R” port at the
corresponding mark side with the rubber
plug (VK3000-8-1) as shown in the | | Plug
figures on the right. ;

2. Other manifold |
3 port valve can be mounted without any
work. a0 Lo
Note 1) Remove the plug if changing the 3
port valve to a 5 port valve.
Note 2) In case a 3 port valve VK300 is
mounted on the manifold base for
a 5 port valve VK3000, switching
type is normally closed (N.C.). If
requiring a normally open type
(N.O.), plug the “A” port on the 5
port valve.
Note 3) “A” port of a 3 port valve for base
mounted type becomes “A” port of
a 5 port valve. Plug that “A” port to
avoid mistaking “B” port for the “A”
port.

1592 %SVC

L

% Corresponding mark
(Concave part)

Type VV5K3-40

b

VM- 06~

! Corresponding mark
(Concave part)

H Mounting Screw
A CaUtlon Tightening Torques
M3: 0.6 N-m




5 Port Solenoid Valve .
Direct Operated Poppet Type Series

Dimensions: Body Ported

VK3000

Grommet: VK3120-L1G-M5
Port size: M5

(Bracket) (2 14 i
i o T -8 =
.EI.!} H l"':-'ul:l H -..ji..
M . B ath i ,J
4 18 |10}
EEE Rk Y 2x@3.2

(Manifold mounting hol_e)

Manual override
(Non-locking) %,

]

(Lead wire length)

a i
2xM2.5x0.45 = =tt=r=

30

DIN terminal: VK3120-1D-M5

2x023.2
(Manifold mounting hole)

741 Max.10

)|
3xRC1/8
(P, A, B port)

mIv A o
— + <
IRNPZNLS

Applicable cable O.D. : 93.5 to 07

! (Mounting screw) ..| | (Mounting screw) “' Pg7 Wﬂﬁ'l
T 1. i I T i 2 _ ! —
g2 I & | - (Mounting) x - V100
L & Bl e A | 3 4 ' =l:
T2 e _ i . 070
|8 23 . £8.1 il [La28 1% 2x035 : NE 7
n ‘Mounting , | 5| 5| o
| (Mounﬁg\lg) E/E—)J =8 8 3l e "QD
< !
) Slxlo —
(Bleathing hole_)
\ Sy VKF
' l
R ] 2.3 68.1
L .;.'I Fh _{
[ woa[wa % 5x M5 x 0.8 Refer to grommet type for other dimensions. VT
penird Laer L B4 2
(Piping port) I
Grommet: VK3120-L1G-01 DIN terminal: VK3120-1D-01
Port size: Rc s
58.4 2x@3.2 '
(Bracket) S 14 (Manifold mounting hole)
\ 74.1 Max.10
9 14
X =
Y s 7
O [<] — Y 4
.-[ =i j'»@{ 8 ] v
] & =
4 3xRc1/8 5'—’1‘* 0 &
(P, A, B port) = S
2Xx03.2
(Manifold mounting hole) 16 |10 ( 3xRC 1/8)
— P, A, B port
Manual override = : .
2x M2.5 x 0.45.3 4 (Non-locking) BE S 5 Applicable cable O.D.: 3.5 to a7
(Mounting screw) (Mounting screw) ﬂ‘_ 2 .g
— H all
L 1 | J ® Pg7
5] i — NIPE \
‘ ®© < = N i | o X (Mounting) I
g A NN | ol N ! Nl screw ‘ -
L0 I =8 3_ 4 IS
pval BN 23 68.1 <25 N 2x035 Jels
31 (Mouming) [ . | o 5| o
hole T::_;J LTJ ) e} ©
(Bleathing hole) d gl
0 21 ]
:\ B;I PO RO T 2.3 68.1
T2 aSZaL |
I ) )
1'(_)_._3.__19;? 2% M5 x 0.8 Q Refer to grommet type for other dimensions.
(R1, R2 port)

1593

O
:



Series VK3000

Dimensions: Base Mounted

Grommet: VK3140-(]G-01

135 13.5
0
M~
fosees
TS
0
<
LLH? s
2x04.3
(Mounting hole)
Manual override 32 4
(Non-locking) r
f &> EJI@L v
o ] - &l ol
~— == 7T N
ol £l &
325 } 58.4
48.5 =300 68.1
(Lead wire length)
pas'
I — To)
P GEETRA;
<
> LL o
< o
13513 | 2
4 x Rc1/8 40
(Piping port)

1594

O
:

DIN terminal: VK3140-1D-01

2x04.3
(Mounting hole)

A
55 v o
|/ *

Max.10 741

Applicable cable O.D.: 23.5 to g7

Pg7

N

78.4
70.9
Fﬁ;
*%,
4.5

44.5

g
20

4xRcl/8 133113
(Piping port) 40

7.5

Q Refer to grommet type for other dimensions.




Type 20 Manifold/Body ported (Top ported)

5 Port Solenoid Valve .
Direct Operated Poppet Type Series

VK3000

VV5K3-20-

n1 = Number of VK3000

n2 = Number of VK300

L1 Grommet: G DIN terminal: D
L2 )
(Pitch). [
P=1913.5 |11.5 6 x Rc1/8 6 x Re1/8
et 2 . (P.Rpory) (P,R port) 0
_ i i ; s
2 ] = =
N [orEie ?} o [ fes) ""@fﬁ N o S '&i
< ) f n N,_w oY bad [aY] N
DD il o3 T B <t Prof— = 4 O g
S ey N ° B " D
=T (Corresponding mark) ™~ i 0
i T : R
- 2x 045 = = ! Coresoon
1 i 7.5 orrespondin
2n1 x Rc 1/8 (Mounting hole) Pg7 (mark i g‘) _
(A,Bport) n2 x Rc1/8 =
~ (A port) % 69.9 V061
Iy
g Manual override Applicable cable O.D.: 3.5 to 67 ‘” UU
E (Non-locking)
o
8“% M 8070
ul \JI B i i —_—
o A ,JK vao
Sl o G A kel
< ——
l Joi® VKF
L Dimension n: Stations
L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L+ 50 69 88 107 | 126 | 145 | 164 | 183 | 202 | 221 | 240 | 259 | 278 | 297 | 316 | 335 | 354 | 373 | 392 | 411
L> 27 46 65 84 | 103 | 122 | 141 160 | 179 | 198 | 217 | 286 | 255 | 274 | 293 | 312 | 331 350 | 369 | 388
VS
Type 21 Manifold/Body ported (Top ported)
VV5K3-21- Grommet: G DIN terminal: D
© Applicable cable O.D.: 3.5 to 97
ol
T N A iyt o 78.4
ol 4 = 70.9
Manual override % .
5045 i WJ (Non-locking) = Pg7
X 04.
(Mounting hole) n2 x Rc1/8 s
(A port) || 5 11
£ o J ]| |
- < N i
| © —| 0 |-
O 0 i [so]
™ ‘ﬂ'_ ol o 8 % m [e0] a ?_’ @
@ = % 1 o Qt 3 ! I
A )
<
35 2 x Rc1/8 2 x Rc1/8
13.
2n1 x Rc /8 55 (P pOI't) (P pOI"t)
(ABport) = L1 '
5 n1 = Number of VK3000
& n2 = Number of VK300
o P —
or =
22 |
tl ko) i il ] g
REmsE e aese
© NENTAR ‘4’ ; r
Rie @ & & BRI ) oi
20 & & o olpol ISRV
|. 6 LO
2n x M5 x 0.8/ (Pitch S
(R1, R2 port) P=19| 22
L Dimension n: Stations
L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L. 38 57 76 95 114 | 133 | 152 | 171 190 | 209 | 228 | 247 | 266 | 285 | 304 | 323 | 342 | 361 380 | 399
L. 27 46 65 84 103 | 122 | 141 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
1595

O
:



Series VK3000

Type 40 Manifold/Base mounted (Bottom ported)

VV5K3-40-[Station|-M5 Grommet: G DIN terminal: D
L1
L2 ' 6 x Rc1/8 7
Pitch -5
(P=19)11;|5 15 (P,R port) 7 6 x Rc1/8
] 05 (P,R port) 0
<
a4 P i
TR E, Mo S s
©ol o ;Uq$| | : {g <| < -4 Q o g 4 Q g
g8 53 < . O
— | — Y < B\Y%
ol ™~ 4 0
G e IS . : 2
=) AR 2x04.5 ‘ C i ;5 Corresponding
E (Mounting hole) (mc;rrrl;espondlng iy Pg7 - (mark )
© = 69.9
= Manual id s
81 E anual override % —
Sls (Non-locking) =
mys o/ ,%\
i’g,r u Applicable cable O.D.: 3.5 to o7
o ol _
N0 1§
< = r - 1 [Te)
9] 'r JE{N
NEN=:
BERE
‘QB@— & -QBQ "%?t'oca
§] [2oAs e pA =
5 % M5 x 0.8 (Pitch)
nx x 0. P=19| 27
(A,B port)
L Dimension n: Stations
L ni 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L 50 69 88 | 107 | 126 | 145 | 164 | 183 | 202 | 221 | 240 | 259 | 278 | 297 | 316 | 335 | 354 | 373 | 392 | 411
L» 27 46 65 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
1596 V
S SVC



5 Port Solenoid Valve
Direct Operated Poppet Type

Type 41 Manifold/Base mounted (Side ported)

Series VK3000

VV5K3-41 "M5 Grommet: G DIN terminal: D
© .
(] Applicable cable O.D.: 83.5 to a7
o 78.9
. % 71.4
Manual override (i}
(Non-locking) = Bt Pg7
=
e S = [ =
£ &S ;[H ) 105 S 105
o o H © e
33 1 5 93 - N 1
A ’ B 8 MY el s B4 of
oy, J 0| ,c_.’t 4} P = ® [t} 1
2x045 | @ioh) 135 3
X 04. =19 . o
(Mounting hole) L2  ~—=-n| 85 4 xRel/8 4xRc1/8
£ L1 1 (P,R port)
£ (P,R port)
8
e
o1 =
3l
oy . ]
& *fe Ho-lHe!
o | ?ﬁ‘@‘@ —
A 4 ©A 001 s
L 82 & & & ovdisls
] 2.5 o
2n xM5x 0.8 / (Pitch 0
(A,B port) P=19{19
Built-in One-touch fitting: VV5K3-41--C4 Solenoid is at the same side as A port:
VV5K3-S41-[Station|-C]
8
L1
L2 . .85
Manual override (Pitch) ’
(Non-locking) P=19135 0
1 | |<F
_ o = ‘ Hr =
IS 105 N @g% 0
- —|®
© o : ©o| ™ “ oo ; o || :;E\ Sr))%
ol o i | @2 = o]
ol |v IO R 8 3 D N
ﬁ 5 AL S C 2
5 j & 9—’5 qFI=
I ; 2x04.5
=ty r -
(Pitch) ‘ (Mounting hole)
2Mx 04.5 - P=19/13.5 4 x Rc1/8 S
(ountngole) L2 — ]85 (P.R port) s £
‘% g Manual override
° o = (Non-locking)
o= [eN el
g 0l ma
Uy ] ]
- #f6- *¢-! ) o) N7 X
o | I = B O
<~ ﬁwH , . , I >B 09 5
BS © ¢ & @Bl ORI« 25
55 2n x M5 x 0.8/ (Pitch) . S
. w =
2n x One-touch fittings Pitch) O (A.Bport) P19 279
Applicable tube T0425 =19| 19
(A, Bport) '
QRefer to the above drawing for DIN terminal dimensions. Q Refer to the above drawing for other dimensions.
L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 44 63 82 101 120 | 139 | 158 | 177 | 196 | 215 | 234 | 253 | 272 | 291 | 310 | 329 | 348 | 367 | 386 | 405
L. 27 46 65 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
1597

ZS\VC

W
o
o
oo
T

VT
VS




Series VK3000

Type 42 Manifold/Base mounted (Side ported)

VV5K3-42-|Station|-01 Grommet: G DIN terminal: D

Applicable cable O.D.: 3.5 to g7

‘c_>. 83.9
3 76.4
=
Pg7
T
=
I ‘ 13
2 | ]
-4 é <+~
q ;} -
0
; e
2x@45 Lz 7 [ 06 4xRets S 4 x Re1/8
(Mounting hole) _ | EH L R (P,Rport) | (P,R port)
%’H - o B
5
°
=
l =
]
N
2nxRel/8 _ /(Pitch) |
(A,B port) P=1824.5/|
Built-in One-touch fitting: VV5K3-42-|Station|-C6 Solenoid is at the same side as A port:
VV5K3-S42- Station| -]
11
L2 11.5
(Pitch) |
P=1913.5 |©
<
e ! ﬁ‘m<§
13 g =t_|
B |° A g8
oo J o o
- - Ol ™ | M = |/ ol
~e _8lg ST alcyflte
8: - 0 2x04.5
« n (Mounting hole)
2x045 4xRcl/8 2 g
(Mounting hole) 15 (P,R port) % & Manual override
% = _% (Non-locking)
g SI% )
[0} [¢p] [}
£ uy=s y
Sz N
[<2] < 9‘
u Y= J‘-; L] gy
8 [ 86 0 & & B o2
@ ohs|&H
< i ; - A{I}-@{]}{B '}Afm"‘\'m
0| A A ol 0 | 7.5
: AN Ry
¥ - B po P=19| 33
R
2n x One-touch fittings / (Pitch) ©

Applicable tube T0604/ P=19| 22
(A, B port)

Q Refer to the above drawing for DIN terminal dimensions. Q Refer to the above drawing for other dimensions.

L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 50 69 88 | 107 | 126 | 145 | 164 | 183 | 202 | 221 | 240 | 259 | 278 | 297 | 316 | 335 | 354 | 373 | 392 | 411
L. 27 46 65 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
1598

ZS\VC



Al

Series VK3000
Specific Product Precautions

Be sure to read before handling. Refer to front matters 58 and 59 for Safety Instructions

and pages 3 to 7 for 3/4/5 Port Solenoid Valve Precautions.

/A Caution

How to Wire DIN Terminal

¢ Connection

1. Loosen the set screw and pull out the
connector from the terminal block of the

solenoid.

2. Remove screw and insert screwdriver into
the slit area near the bottom of terminal
block to separate block and housing.

3. Loosen the terminal screws (slotted
screws) on the terminal block, insert the
core of the lead wire into the terminal,
and attach securely with the terminal

SCrews.

4. Tighten the ground nut to secure the wire.

/A Caution

Use caution in wiring because it will not
meet the IP65 (enclosure) standard if you
use the other cord than prescribed heavy-

duty cord of size (3.5 to @7).

Tighten the ground nut and set screw within

the specified range of torque.

* Change of electrical entry (Orientation)
After separating terminal block and
housing, the cord entry direction can be
changed by attaching the housing in the
desired direction (4 directions in 90

increments).

* In the case of w/indicator light, avoid
damaging the light with lead wire.

¢ Precautions

Plug a connectorinoroutvertically, never

at an angle.
¢ Applicable cable
0.D.@3.5t007
(Reference)
0.5 mmz 2 core and 3 core wires
equivalent to JIS C 3306
Ground nut
Tightening torgne
1.65t0 2.5 N'm Set screw
Tightening torgne
ﬁ‘ 0.3t0 0.4 N.m
Washer |'j -
Grommet - .
(Rubber) Housing

(Voltage symbol)
See list below.

Terminal screw (3 locations)
Tightening torque
0.2t0 0.25 N'm

S A

(Posttion for light mounting)
Terminal block
Slit area

@ Connector part no.: VK300-82-1
@ Part no. of connector with light

Rated voltage | Voltage symbol Part no.
100 VAC 100V VK300-82-2-01
110 VAC 110V VK300-82-2-03
200 VAC 200V VK300-82-2-02
220 VAC 220V VK300-82-2-04
240 VAC 240V VK300-82-2-07

6 VDC 6V VK300-82-4-51
12 VDC 12V VK300-82-4-06
24 VDC 24VD VK300-82-3-05
48 VDC 48VD VK300-82-3-53

@ Circuit with light

AC 12 VDC or less 24 VDC or more
Circuit diagram Circuit diagram Circuit diagram
» LED
NL R N
R D LED [
X
N
i ;
1
+ b _l2 14
= 1 by .
NL: Neon light LED: Emitting diode  D: Protective diode
R: Resister R: Resister LED: Emitting diode

R: Resister

/A Caution

| Light/Surge Voltage Suppressor |

12V

None

Rated : Part no.
Grommet type DIN terminal (D
voltage ype (G) ©) symbol
5| %5 5 -

gl 2z Rz 2z 03| s

2 ST 1° g

o

s NO.2
ACI=

= NO.1

= A

= Neon® =

g None light ! L}JS VA

= o

= NO.2

=

E’ Red(+) NO.1(+)

s ] ryi= @ —

8 24 1513 3% I'TS S
24V| 2 e 5]

o | & ©

= | Black(-) NO.2 ()
18V =

5 R
DC| 5 :,

8 None w¥ &3 Z

S “4 A LEaO

= v

£

= NO2(-)

E} NO.1

s 5 I =

g 2z 13 2z 13 | s
6V| 2 ST Y g

o

=

=

=

k]

8

=}

£

=

=

Precautions on connection for 24 VDC or

more

Grommet type should be connected as
following; Red lead wire for (+) side, Black

lead wire for (—) side respectively.

With the DIN terminal, connect the positive
(+) side to the connector's no. 1 terminal,
and the negative (-) side to the no. 2
terminal. [Refer to the marks on the terminal

board.]

* For 12 VDC or below, there is no positive

(+) or negative (-) directionality.

N

SVC

* Grommet type

[

¢ DIN terminal

Marking *

e S

-

+ Markings

For AC, 12
VDC or less

._N_.

A Warning

=
|

Red(+)
Black(-)

Surge voltage supressor

(

Light (Built-in connector)

Surge voltage supressor
(Built-in terminal)

For 24 VDC

or more

2 l l 1
=) (+)

| Valve Mounting Direction |

When mounting a valve or spacer on the
manifold base or sub-plate, etc., those
mounting directions are determined. If
mounted in the wrong direction, the
equipment to be connected may cause
malfunction. Refer to external dimensions in
pages 1593 to 1598, and then mount it.

[How to Calculate the Flow Rate

For obtaining the flow rate, refer to front

matters 44 to 47.

1599

W
o
o
oo
T

VT
VS




	5 Port Solenoid Valve/Direct Operated Poppet Type (Rubber Seal)
	Manifold Specifications
	Specific Product Precautions



